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Board of Secondary Education Rajasthan, Ajmer

Model Question Paper Exam — 2023

CLASS - 10
SUBJECT - ENGLISH (02)

Time - 3 Hours 15 Minutes

1. Objective Marks Distribution -

Total Marks - 80

S. No. Objectives Marks Percentage
1. Knowledge 23 28.75
2 Understanding 20 25.00
3. Application 21 26.25
4 Skill 16 20.00
Total :- 80 100.00
2. Division of Sections -
SECTION TYPES OF QUESTIONS No. of MARKS TOTAL TOTAL TIME
QUESTIONS WEIGHTAGE | WEIGHTAGE OF
OF MARKS QUESTIONS
A McQ 6 15 18.75 30.00 35
VERY SHORT ANSWER 45
TYPE QUESTIONS 1 21 26.25 05.00
B SHORT ANSWER TYPE 20
QUESTIONS 5 10 12.50 25.00
C ESSAY TYPE QUESTIONS -1 2 8 10.00 10.00 30
D ESSAY TYPE QUESTIONS -2 6 26 32.50 30.00 65
20 80 100.00 100.00 195
3. Mark Distribution of Content -
S. No. Content Marks Percentage
1. Section A - Unseen Passage 1 6 7.50
2. (Reading) - Unseen Passage 2 9 11.25
3. Section B - Letter/E-mail 5 6.25
4 (Writing) - Story Writing 4 5.00
5. Short Paragraph verbal/visual 4 5.00
6. Section C - Tense 4 5.00
7. (Grammar) - Reported speech 2 2.50
8. - Conjunctions 3 3.75
9. - Relative Pronoun 2 2.50
10. - Voice 2 2.50
11. - Framing question & Que. Tag 2 2.50
12. | Section D (Text book) - First Flight Passage-1 6 7.50
First Flight Passage-2 6 7.50
13. Textual Questions 7 8.75
14. Poetry 8 10.00
15. Footprint without feet 10 12.50
Total :- 80 100.00%




Blue Print

CLASS - 10 SUBJECT - ENGLISH (02) MARKS - 80
S. Objective Unit / Sub Unit Knowledge Understanding Application Skill Total
No. McQ | vsAQ [ sAQ | ETQ McQ VSAQ | sAQ [ ETQ McQ VsAQ [ sAQ | ETQ McQ VsAQ | sAQ [ ETQ
ETQ [ ETQ ETQ1 | ETQ ETQ [ ETQ ETQ1 | ETQ2
1 2 2 1 2
1. | Section A - Unseen Passage 1 2] 20) 20) 6(1)
2. | (Reading) - Unseen Passage 2 M 120 4() 9(1)
3. | Section B - Letter/E-mail 51 51
4. | (Writing) - Story Writing 4 A1)
5. Short Paragraph verbal/visual 4 4(1)
6. | Section C - Tense A1) 4(1)
7. | (Grammar) - Reported speech 20 2(1)
8. Conjunctions 3(1) 31
9. Relative Pronoun 20 2(1)
10. Voice 1) 2(1)
11. | Framing question & Que. Tag ) 2(1)
12. | SectionD (Text book) -First Flight | 42) | 4() 4(-) 12(2)
Passage 1 Passage-2
13. | Textual Questions ) 51 7(2)
14. | Poetry A1) n 8(2)
15. | Footprint without feet ) A A 10(3)
15(6) | 8¢) 100) | 5y |8Q) 31 | 8¢ 10(2) 16(4) | 80 (20)

Choice Scheme : Question 3,4,5,14,15,16,17,19,20 Internal Choice

Note : Marks should be written out of the bracket

Signature




BOARD OF SECONDARY EDUCATION, RAJASTHAN AJMER
MODEL PAPER -2023

CLASS-10
ENGLISH
Time :- 3 Hours 15 Min. Marks :- 80

GENERAL INSTRUCTION TO THE EXAMINEES:

1. Candidate must write first his/her Roll No. on the question paper
compulsory.

2. All the questions are compulsory.

. Write the answer to each question in the given answer book only.

. For questions having more than one part the answers to those parts
are to be written together in continuity.

5. Write the correct serial number of each question as mentioned in

the question paper.

= W

SECTION-A
Reading

1. Read the following passage and answer the questions that follow :

These days, it is not unusual to see people listening to music or using their electric
gadgets while crossing busy roads or travelling on public transports, regardless of the risks
involved. I have often wondered why they take such risks, is it because they want to exude a
sense of independence or is it that they want to tell the world to stop bothering them? Or is it
that they just want to show how cool they are? Whether it is a workman or an executive,
earphones have become an inseparable part of our lives, sometimes even leading to
tragicomic situations.

(i) What is not unusual to see these days? 1
(A) listening to music (B) using electronic gadgets

(C)BothA&B (D) None

(ii) People are regardless of risk involved. 1
(A) on busy roads (B) travelling on public transport

(C)BothA&B (D) None

(iii) Why do the people take risk? 1
(iv) What leads to tragicomic situations ? 1
(v) Write similar word of the following from the passage :- 1

‘Surprised’



(vi) Write opposite word of the following from the passage:- 1
‘Hot’
2. Read the following passage and answer the questions that follow:

Childhood is a time when there are few responsibilities to make life difficult. If a child has
good parents, he is fed, looked after and loved, whatever he may do. It is improbable that
he will ever again in his life be given so much without having to do anything in return. In
addition, life is always presenting new things to the child - things that have lost their interest
for older people because they are too well-known. A child finds pleasures in playing in the
rain, or in the snow. His first visit to the seaside is a marvellous adventure. But a child has
his pains : he is not so free to do as he wishes as he thinks older people are : he is
continually being told not to do things, or being punished for what he has done wrong. His
life is therefore not perfectly happy.

When the young man starts to earn his own living, he becomes free- from the discipline of
school and parents; but at the same time he is forced to accept responsibilities. He can no
longer expect others to pay for his food, his clothes, and his room, but has to work if he
wants to live comfortably. If he spends most of his time playing about in the way that he
used to as a child, he will go hungry. And if he breaks the laws of society as he used to break
the laws of his parents, he may go to prison. If, however, he works hard, keeps out of
troubles and has good health, he can have the great happiness of seeing himself make
steady progress in his job and of building up for himself his own position in society.

Old age has always been thought of as the worst age to be, but it is not necessary for the old
to be unhappy. With the old age should come wisdom and the ability to help others with
advice wisely.

(i) Marvellous adventure for a child will be : 1
(A) his first visit to zoo (B)his first visit to play school
(C) his first visit to seaside (D)his first visit to garden

(ii) When a young man starts to earn his own living, he becomes free from: 1
(A) discipline of school (B) parents
(C)BothA&B (D) none

(i) With .eeeeenens should come wisdom and the ability to help others with advice wisely. 1
(A) Youth age (B) old age
(C) childhood (D) Middle age

(iv) What happens if a child has good parents?
(v) Why a child is not perfectly happy? Write any one reason.
(vi) Which age has always been thought of as the worst age to be?
(vii) What will happen when a youth breaks the laws of society ?
(viii) Write similar word of the following from the passage:
‘ Amazing’
(ix) Write opposite word of the following from the passage: 1
“Insanity’

Y el



SECTION B
[Writing ]

3. Imagine that you are the captain of your school volleyball team. You want to take part

into the district level tournament to be held in Maharana Pratap Secondary School, Beawar.

Write an application to the Principal of your school requesting him to allow you to take part

in the tournament. 5
or

You are Mona/Manish. Write an e-mail to the editor of a newspaper complaining about

insanitary condition in your locality.

4. Write a story with the help of given outlines in about 80 words. Give the title and moral to

it. 4
A good boy ................. falls in bad company........ccccuuueeee... disobeys............ father advises to
shun........ccceeeenes all in vain................. decides to teach a lesson........cc............ brings
appleS. . puts them in almirah......ccccooeeeein. notices one rotten
= To]o] [T next day all apples rotten............ccuvveeeeee. teaches a lesson.

OR
A thief caught.................. brought before the king.................. the king orders him to
hang......... thief.....ccccceee.. clever............. SAYS errrrreeiieeeeeeieeinns a secret.............. true with
golden fruit............... king interested........ccccceeeennnins thief prepares small pellets of
gold.....ccccuueneee tells the king sown by one..... never stolen anything.
5. Write a paragraph of about 60 words using the visual aid provided: 4

[
{. &

CORONAVIRUS

VACGINATION

CovID-19
VACCINE |

10mi

OR

Write a paragraph on "My Favourite Teacher' in about 60 words.



SECTION C

(GRAMMAR)
6. Choose the correct form of the verbs:
()1 I (go) to Jaipur yesterday.
(A) went (B) go
(C) have gone (D) had gone
(ii) He usually............... (take) breakfast at 8 a.m.
(A) takes (B) took
(C) has taken (D) will take
(iii) We o (study) in this school for three years.
(A) will study (B) have studied
(c) am studying (D) have studying
(iv) The train.....ceeeeeeeeeeeennn. (leave) before | reached.
(A) left (B) had left
(C) was leaving (D) had been leaving

7. Change the following sentences into Indirect Speech.
(i) Archi said to me, "l respect you".
(i) Sid said to me, " Do you learn English?"

8. Rewrite the following sentences using connectives given in the brackets:

(i) It is very cold. We can't go out. (too-to)
(ii) He sells mangoes. He sells oranges. (both-and)
(iii) She is very small. She cannot lift it. (so-that)

9. Join the following sentences using the relative
Pronoun, given in the brackets:
(i) The boy is going on the road (whose)
His father gave you this letter.
(ii) The boy was awarded. (who)
He was honest.

10. Change the following sentences into Passive-Voices,
(i) Prateek will write a letter.
(ii) Please open your book.

11. (i) Frame question of the following sentence:
| crossed the river by boat.

(ii) Add Question Tag to the statement given below.
Mohan will go to school...........cccccce...... ?

[EEN



SECTION - D
(TEXT - Book)

12. Read the passage given below and answer that follow:

Marriage gifts are meaningless without the sweet bread known as the bol, just as a party or
a feast loses its charm without bread. Not enough can be said to show how important a
baker can be for a village. The lady of the house must prepare sandwiches on the occasion
of her daughter's engagement. Cakes and bolinhas are a must for Christmas as well as other
festivals. Thus, the presence of the baker's furnace in the village is absolutely essential.

The baker or bread-seller of those days had a peculiar dress known as the Kabai. It was a
single-piece long frock reaching down to the knees. In our childhood we saw bakers wearing
a shirt and trousers which were shorter than full length ones and longer than half pants.

(i) Sweet bread is known as: 1

(A) bol (B) pol

(c) dol (D) roll.

(1) I of the house must prepare sandwiches: 1

(A) Lady (B) Maid

(C) Daughter (D) Master

(iii) What is must for Christmas? 1

(iv) What is Kabai? 1

(v) Find out the world from the passage which means :- 1
‘Presents’

(Vi) Find out the word from the passage which has opposite meaning of : 1
‘sour’

13. Read the following passage and answer the questions that follow:

"The moon was coming up in the east, behind me and stars were shining in the clear sky
above me. There wasn't a cloud in the sky above me. There was not a cloud in the sky. | was
happy to be alone high up above the sleeping countryside, flying my old Dakota aeroplane
over France back to England. | was dreaming of my holiday. and looking forward to being
with my family. | looked at my watch: one thirty in the morning.

'I should call Paris Control soon' | thought. As | looked down past the nose of the aeroplane.
| saw the lights of a big city in front of me. | switched on the radio and said, "Paris Control,
Dakota DS 088 here. Can you hear me? | am on my way to England Over".

(i) The moon was coming up in the......ccccccvvveeiviiiieeeenennes 1
(A) east (B) west

(c) south (D) north

(ii)The stars were shining in the............... 1
(A) sky (B) room

(C) school (D) house

(iii) Why was the writer happy? 1

(iv) What was the writer flying? 1



(v) Write the similar word of the following, from the passage:
‘rest’

(vi) Write the opposite word of the following, from the passage:
‘dull’

14. Answer any one of the following questions in about 80 words :
Why does the writer go to Basra? How long does he wait there and why ?

[Mijbil the Otter]

OR

Write the character sketch of Wanda. [The Hundred Dresses]

15. Answer any one of the following questions in about 20 words:
Write the character, which you like most in the play. [The Proposal]

OR

Can you imagine what can happen with Lomov in other way in the play after quarrel with

Natalya ? [The Proposal]

16. Explain any one of the following stanzas with reference to the context:
Some say the world will end in fire
Some sayinice
From what I've tasted of desire
| hold with those who favour fire.
(i) Write rhyme scheme and words.
(ii) According to the poem what the world will end in?
OR
Read the following extract and answer the questions that follow.
The way a crow
Shook down on me
The dust of snow
From a hemlock tree.
(i) Which tree is mentioned ?
(ii) Write rhyme scheme and words.

17. Answer any two of the following questions in about 20 words:
(i) What are the trees in the poem, 'The Tree'? [The Tree]

(ii) Write the identity of crocodiles? [How to Tell Wild Animals]
(iii) What does crow symbolise? [Dust of Snow]

18. Choose the correct answer:

() ST is the writer of "A Question of Trust? [A question of trust]
(A) Victor Canning (B) H.G. Wells
(C) Robert W. Peterson (D) None

(i) What is name of the dog in the lesson. 'A Triumph of Surgery'?

[A Triumph of Surgery]
(A) Tricki (B) Hello
(C) Tripi (D)Tommy

[2x2=4]



19. Answer any one of the following questions. in about 60 words: [1X4=4]
(i) “Griffin was rather a lawless person” explain.
[Footprints without Feet]
(ii) What is DNA fingerprinting & what are its uses?
[The Making Of A Scientist)
20. Answer any two out of three following questions in about 20 words. [2x2=4]
(i) What was the problem of Name. Loisel?
[The Necklace]
(ii) How is Ausable different from other secret agents?
[The Midnight Visitor]
(iii) How does Anil think about the thief ?
[The Thief's Story]



Y9 B ISl

®eT — 10
fowg — fagm (07)
3T — 3 °ve 15 f#He qurics — 80
1 TGa TG ABAR —
.. SECRO SIGIN yfererd
1. | 9™ 33 41.25 %
2 AT 24 30.00 %
3 et 11 13.75 %
4 AT 12 15.00 %
gIT 80 100 %
2 U9 & YPRIR BN —
EQ Yl BT bR YT @l | 3 Ufl | Bl b yfererd SRIIER
9. =T RS gfererd gedl BT Ty
1. | aegfrs 18 1 22.50 36.00 28
2. yﬁaw 12 1 15.00 24.00 23
3. | TERIH® 13 2 31.50 26.00 51
4. | SIS Yo 04 3 15.00 08.00 41
5. | faucas 03 4 15.00 06.00 52
gIT 50 100 100.00 195

3 favy avg &1 PR —

4. fawg avg JPIR | faerd
1| INEM® SfAfhar @ FHIGRT 5 06.25
2 | 37T &IRP T AT 6 07.50
3 | 9g 9 3R 4 05.00
4 | ®BEA g 59 AIRTH 6 07.50
5 | dcdl T MMdd aifihro] 4 05.00
6 | 9 UpH 7 08.75
7 | T 9 9y 6 07.50
8 | SNd 54 &Y Bxd B | 6 07.50
9 | ARG 9 OIF [dhrE 4 05.00
10 | Y3 TR @ 3Tqdd- 7 08.75
11 | 999 99 Ud 9T SR 99R 4 05.00
12 | fqeEgd 7 08.75
13 | [9gd gRT & g yHE 7 08.75
14 | ST & AT 4 05.00
15 | BHRT gITaRoT 2 02.50
16 | UThicieh HERAT BT D] 1 01.25




BHET — 10 favg — fasm= (07) quis — 80

% Se¥ 3B/ S 3B EIE ey RN / e BTl / Aferdar T
H % %

1| rarfe sifdfear 1) | 1(1) 3(1) 5(3)

HTHROT
2 | 3%l &IR® g oAqUT 1(1) | 1(1) 1(1) 3(-) 6(3)
3 | o1 g g 2(1) 1(1) | 1(1) 4(3)
4 | PEA g g9b AIfTE 2(1) 1(1) 1(1) | 2(1) 6(4)
5 | dcdl &l 3Mad aiidhRv] (1) | 12(1) 2(1) 4(3)
6 | old UshH 2(1) 1(1) | 1(2) 1(-) 2(-) 7(3)
7 | FREET 9 99 22) | 1(2) 3(1) 6(4)
8 | ST S99 Y A & | 1(1) | 2(1) 1(1) 2(1) 6(4)
9 | JAIRIEGAT 9 Sig fadmrd 3(1) 1(1) 4(2)
10 | YehT¥T URTGTT g 3Mqdde 2(1) 1(1) 2(1) 2(-) 7(3)
11 | 999 9 vd 97 ORI 99R 1(1) 3(1) 4(2)
12 | faga 1(1) 2(1) 1(1) | 2(1) 1(1) 7(5)
13 | g ORT & B gAE 2(1) 1(1) 2(1) 1(1) 1(1) 7(5)
14 | 39T & I 2(1) 1(1) 1(1) 4(3)
15 | BHRT TR0 1(1) 1(1) 2(2)
16 | UThlcids HHEFT BT aiflpor | 1(1) 1(1)
7(7) | 4(4) [ 14(7) |6(2) |2(2) | 7(7) |3(3) |8(4) |6(2) 2(2) | 3(3) 2(1) [4() |2(2) |2(2) |4(2) | 4() 80(50)

el & AT — UE 21, 22 9 23 ¥ U IAHidRe fdbeq 2|

Ac— HISH § I8N P AT 3ip] o1 q2r Hax gz=l & @ds 2|
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SECONDARY EXAMINATION, 2022&23

fasr=

SCIENCE

Y ;3115 €[0S quiieh : 80
wdlenRiEl @ forg wmra fder —

GENERAL INSTRAUCTIONS TO THE EXAMINEES

1. QRIeTRIT FdYed U4 Ued UF WR AMiE Aarid: fowd |
Candidate must write frist his/ her Roll on the question paper compulsory.
2394 g SfarRd B |

All the questions are compulsory.

3. U® UL BT IR &l T8 SR YRKIdhT 4§ 81 fore |

Write the answer to each question in the given answer Book only.

4, T34 gl 9 o<IR® @Ue 8, I A & SR [P ART 81 ford |

For question having more than one part, the answers to those parts are to be written togeatherin
continuity.

5 U UF & 24l g 3USH wuR # BT ybR @7 Ffe /IR / TRmm s 8 R 2=
AT & U BT B FET A |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the

question of Hindi versions should be treated valid.



rs I

Section A
Igfddbedl yT=—
Multiple Choice & Question-
1. 99 % HERA (BHs) fbd dF & W 27
(a1) ot (@) S
(@) vau (@) ulR&@oT
The Lungs in human beings are part of the system for
A. Nutrition B. Excretions
C. Respiration D. Circulation
2. 99 # ¥ DT UIGY ERAM &7
(@) s=gfer (3) emsRIERIE
(%) geIoT () et
Among the following which is plant Hormones-
A. Insulin B. Thyroxin
C. Estrogen D. Oxcin
3. B A IS BT MAIRIGAT BT S Hed o7
1) JTaT (@) Avsd
@) wrfa (@) Hscw
Which Scientist is called the" Father of Genetics"?
A. Bateson B. Mendel
C. Morgan D. Mendeleev
4. 99 # 9 59 TR BT SUART BT YTl H grar 2?
@ RreR TW"S (@) AfeTH FIRES

() I dRTSS (@) dfFT |rer
Which chemical used in photography

A. Silver Bromide B. Sodium chloride
C. Amonium chloride D. Baking Soda

5. WIRCX 3B IR &1 YIRS g3 28—
(1) CaSo, 2H,0 (@) Caso, %5 H,0

(Q:[) Na, CO; 10 H,0 (_Q’) Na,CO,
Which is the Chemical formula of "plaster of Paris"?

A. CaSo, 2H,0 B. Caso, % H,0
C. Naz C03 10 Hzo D. N32C03

6. Fv T % ¥ Spe A 7
(@) O, @ H,

() He (@) Co,



Example of Noble Gas

A. 0O, B. H,
C. He D. Co,

7. & vari ge1 & HRT g # T o g9 fewd 77
(31) WRTaH (@) TBHE
() faeroor (@) 3ac

Why apparent displacement of a pencil Partly immersed in water
A. Reflection B. scattering
C. Dispersion D. Refraction

8. YR 97 & o W W g BT Ufafdw a=7am a—

(@1) gfteuca W (@) gficucd & |mA
@) sfeuea & e @) o5 Mf¥aq =2
In which part of normal @ Human Eye areal Image form —
A. At Retina B. In front of Retina
C. Behind the Retina D. None of Above
9. faga wik &1 Sl wd 28—
(31) 51 (@) arc
(&) iR () dreT
SI unit of Electric Power
A.Joule B. Watt
C. Ampere D. Volt
10. /91 ¥ & B Tl dEwEE § -
@1 ER Hoil (@) PRI
SIRME] @) wpfad |
Which in renewable sources of Energy?
A. solar Energy B. coal
C. Petrol D. Natural gas
11. 7= § 9 #19 oRR sfwen w1 i #a §2
(an) =T, 1, qe ST (&) =T, FRG T HEE
() SR, T e g (@) &, FAT qoT TR
Which of the following constitute a food-chain?
A. Grass, wheat and mango B. Grass, goat and human
C. Goat, cow and elephant D. Grass, fish and goat
12. foadt =fe o 2-
(81) 7T =T R (q) T T R

(@) EH 7= W (z) == &I W



Tehri dam is built on-
A.river Ganga B. river Narmada

C. river Son D. river Chambal

Q2 7 ©IF & gl H=r —
Full fill the blank spaces -

1. FTEA-HTE THST TG FTTF oo FEAM @ |

Compounds containing carbon-carbon single bond are called ........................ .

2. TWAT] & 5 BT § Fag™ BT AAGTH FET AT DI BT T overeenrernrrnreenns 2|
Maximum Number of electron found in a shell of atom depend on the formula is .......................
3. QI TR®T BINTGT & A0 Tl R BT .o, FEd B
The Gap between Two neuronsis called .......................
4. ATB & W forEr|

6CO, + 12H,0 A Cs H1,06 + 60,

B
Write Name of A & B in this equaction.
6CO, + 12H,0 A Cs H1,06 + 60,
B

Jfaery o=
Very short answer type

Q3
1. ALY SFATHAT § Y 1 o9 8 2

What do you mean by a precipitation reaction?



2 I faera & PH &1 919 forr |

Write the value of PH of Neutral solution.
s Thg a1g & <1 s3etw fora |

Write two examples of Alloy.

4 2 DI Folag v WA 9918T |

Draw a electron dot structure of Methane

5. HEcll &I 3Mad FIRTY B IS Uh HaT faIlRey |

Give one limitation of Midlives of Periodic Table.
6. TR BT Aol ARTES BT DIFNT 9T BT 27

Which part of Brain maintain balancing of Body.

7. R H BINES GBI i BRAM BT M o t°Q|

Write one Human Male Sex Hormone.

s. g IRYer ¥ drecHIey T B a1y |

Write the uses of voltmeter in Electric Circuit.

0. TS D D ARI IR FHDHIY EFAERT BT = 1317 |
Draw a Magnetic field line around a Bar Magnet.

10. SIATEH S & &1 IRV IR |
Write two examples of fossil fuel.

1. SIS IRA BT T A fora |
Give an Advantage of ozone Layer.

12. AT & e (99 ¥ SFfaT fhda! faem &I a2iar 7 |
In Flaming left hand rule, thumb indicate which direction.

WUs B
Section B

4. QI8 I S § F=M F g I ik Fasd |
State two ways to prevent the rusting of iron.

5. BIEF B <l JUXHUT b A forar |

Write any Two Allotropes of Carbon-

6. TAIST & A=AT &l s 991U |



Draw a labelled diagram of formation of Micellas,
7. 3Mad AIROT # 9N ¥ TN 9W R WA Boar J@at ged 27

The Atomic Radius decrease in moving from left to Right in periodic table. why ?
8. MR ¥ 4T W dTel 37l BT 4 T BRI TR |

Write the name and function of Acid which secretes from Human Stomach.

9. @I fhY B B T SHBI BRI IR |

Define Placenta ? What is the Role of placenta
10. I8 Pl FI< Pl HT o7 T91=Y |

Draw a Labelled diagram of the longitudinal Section of a to flower.
11. <9 BT &9 B G iR 936 forr |

Write the formula and unit of Power of Lens.

12. fH0 =TT 1 TR - PRe! W iR &edr 21 (P12 )

Write any Two factor on which Resistance of a Conductor depend.

13. g gRuer e |Fierl § A= SUART 8F dTel &1 R U forf ey |
Name Two Safety measures commonly used in eclectic Circuit and appliances

14. JHIDBIY &3 DI I AT B BT IRV BT S e forg |
Write the Left hand Thumb full to find direction of Magnetic field.

15. 13U U forpa yRuer # gftomdt wfae foramm &2

2Q 20

Hil=
What will be the resultant resistance in the given electric circuit?

2Q 20

Hil=

16. $ON & TAHRONY AT AR Ao Gt ol gk ey |

Define the Renewable source and Non Renewable sources of Energy.



s |

Section C

N FIRIHD gF+-—

Long Answer Type Question -
17. T Wl YRl Bl fAGaied | g= &1 Uh Su™ fora |

Cuo+H, —> cu+H,0 ¥ T TeTRl &1 =TT IR fPADPT U= BT 27

What is done to prevent rancidity in Food Containing Fats.

CuO + H; = Cu + H,0 in above reaction which substance being oxidised and which substance reduced. [1+2=3]

18. G99 § SR Tf | fAdhol~ Il BRAM BT A9 Tl B oIl | SH! HHl F 8
qrel YT 1 A forfRay |

Write the name and function of hormone secreted by Pancreas Gland-.Write the name of disease due

to its deficiency- [1+1+1=3]

19. 9119 H Tl FRIROT BT TR iR SHST NG fF 1 9771l |
Explain Sex determination in human and Draw a Ray diagram. [2+1=3]

Y gfie I & FraroT & AT BT o B ST §
AT TN A & T G BT T o1l a1 e 7 |

20. (a)
(b)

(a) which Lens used to remove far sightedness defect of vision.

b) why the Sun appear Reddish at the time of Sunrise and sunset. [1+2=3]

s «

Section D

21. 2. RS o &1 TS I3 9 DR TS SUART o |

b. BT HIST BT IS F T PIS Th IYINT fordl |

c. 3T oIl &R H Blg & <R fora |

a. Write Chemical formula of Bleaching Powder. Give One uses of Bleaching powder.
b. Give chemical formula and One uses of Baking Soda

c. Give two differences between Acid & Base. [2+1+1=4]

SRIATOR

(a) Fr=afarfEa =1 gofaa wi—



A. Fa (i) =R o1

B. SATere (i) TERIfe sTeet
C. <A HEF (i) fafes st
D. SHE (iv) HoAfsw o0

(b) gTe il o1 THRH 53 o & 394 fol |

(a) Match the following-
A. Orange i) Tartaric Acid
B. Amla ii) Ascorbic Acid

C. Nettle Sting iii) Citric Acid

(
(
(
(

D. Tamarind iv) Methanoic Acid

(b) Write chemical formula of washing soda and gives its two uses.

22.a. AT H IO [ Had 2 | I9d ScdoT dF BT AMifhd IS a9 |

b. AT ¥ U (SR fham BT AHsSy |

a. Define Execration in human . Draw a labelled diagramed of Human Excretory system in Human
b. Explain Dialysis Mechanism in human

SRIATOR

i. g | 9IS BT UTae b Bed B2 HIFg Ut OF BT AMifhd o S8 |

ii. YIS & U= ofR &l Uh HRI Id1aT |

i. Write the meaning of digestion in Human. Draw a labeled diagram of Human digestive system.

ii. write the Role of saliva in digestion of food.

23. (a) 3Taaa 4O gRI Ufafers 1 fortor ST s1ell Siafer o5 ®ishs F I ferg 21|

(b) aTEdfae qer v wiafars o 51 e fafaw|

(a) Draw a ray diagram for a concave mirror, if the object is placed at focus.
(b) Write two differences between real image and virtual image

ateran
(a) ST TG g s o1l Wiafers o1 for fom smsht srefer fora =t feafa fomma’ W T
(b) 39U I &9 H 3 3= fafaw|

[1+2+1=4]

2+1+1=4



(a) Draw a ray diagram for a convex lens when the object is placed at infinity.

(b) Write two differences between mirror and lens.
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3T — 3 °ve 15 f#He qurics — 80
1, Iy BY PR —
G SECED) SICRIN yfererd
1. | 9™ 28 35%
2. | TERT 32 40%
3. | Afveafad 16 20%
4 AifeTdhdr 04 5%
INT 80 100%
2. Gel & YHRAR PR —
EQ Yl BT bR YT @l | 3 Ufl | Bl b yfererd SRIIER
. T RO yfereTd SRS INCA] qHY
1. | aedTS 12 1 15 24 16
2 yﬁaw 12+6 1 22.50 36 23
3. | TERIHD 13 2 32.50 26 35
4. | AESTNIT YO 4 3 15 8 45
5. | fFraemeH® 3 4 15 6 76
T 50 100 100 195
3 favy avg &1 PR —
I fawg avg PR | gfaerd
1. | Y H AIEAE BT I 5
2. | IRd ¥ A 6
3. | qHvSHIdhd faed BT g 3
4. | SNrENTBROT BT G 4
5 | gaUT AR IR RH g 2
6. | UEM 3R fawmN 3
7. | 99 IR 9= S ARM 2
8. | Slcl |HEEH 3
9. | By 3
10. | WST IR Holl TaRM 4
11, | fafs\ior SgmT 2
12. | T ITaell &l Siad N 3
13. | < I IR 2
14. | HeldTS 4
15. | oldbd= AR fafaera 2
16. | SIfeT, o IR i A3t 4
17. | SH—99Y 3IR 3Tiglel 2
18. | oI & 2
19. | Abdd & aRomA 2
20. | bdsl D A 2
21. | fa™a 4
22, | AR refcuaNe & &b 4
23. | a1 3R 9rg 4
24, | JTNHROT AR TR rieug=er 4
25. | ST AfTHR 4




U1 < U<

e —10th fawa — ISt fasm (08) —80
P ST SR/ SU I T s T / ferfed Preret / Afergar T
¢ & c LR Ele |& gz
1. | IRW H IGAR BT I8 2(1) | 3(1) 5(2)
2. | IRT ¥ IrgaTe 2(2) 4(1) 6(3)
3. | gHvS AR fagd BT g+ 1(1) (D) | 1(1) 3(3)
4. | STNTBROT BT T 1(1) 2(1) 1(1) 4(3)
5. | JaUT A& 3R AMRIIE T | 1(1) | 1(1) 2(2)
6. | IORM 3R fawr™a 3(1) 3(1)
7. | @ 3R 9= <flg HawrH 2(1) 2(1)
8. | Slel AR 2(1) 1(1) 3(2)
9. | By 2(1) 1(1) 3(2)
10 | W1 3R SHoll AR 4(1) | 4D
11 | faf~mior semT 2(2) 2(2)
12 | IR SRR Bl Silad WA 1(1) 2(1) 3(2)
13 | G Bl TSR] 2(1) 2(1)
14 | ALATE 4(1) 4(1)
15 | oldbdd IR fafderdr 2(1 2(1)

fdmeal B AT — U, 21—23 H U IHidRe fAbed 2|

Ac— HISH § I8N P AT 3ip] o1 q2r Hax gz=l & @ds 2|




53, S 301 /U IR LG aqw SRR / Siferfad Pl / Aferdar T
3 E E g E £ . |C E 7 | E :
¢ & c LR Ele |& gz
16. | SIfdT, & 3R <1 Ade 1(1) 3(1) 4(2)
17. | SH—HEY 3R QT 2(1) 2(1)
18 | YoM &t 2(2) 2(2)
19 | drbaa & URomH 1(1) 1(1) 2(2)
20 | s @ A 1(1) (1) 2(2)
21 | e 1(1) 2(1) 1(1) 4(3)
22 | MRAY JrfadRel & &b 1(1) (1) | 2(1) 4(3)
23 | &I 3R 9rg 2(2) 2(1) 4(3)
24 | JAIHROT 3R HRAT 3feicra=el 1(1) 3(1) 4(2)
25 | SYHIEIT SNfIBR " 1(1) 2(1) 4(3)
T 44) | 8(4) | 3(1) 2(2) | 5(5) | 16(8) 8(2) | 2(2) | 3(3) [2(1) | 93) 4(1) | 80(50)
14(14)
ad aRr 20(23) 31(17) 16(9) 4(1)

fameal B AT — U, 21 § 23 H 3dRe QAbeq 21

Ac— HISH § I8N P AT 3ip] o1 q2r Hax gz=l & @ds 2|




Aegffe 9Er SECONDARY EXAMINATION, 2022-23

"ot fas= SOCIAL SCIENCE
sy Pre—os

|g— 3 Hel 15 e qUTid— 80

yfenffal & forv wmm fAder—

GENERAL INSTRUCTIONS TO THE EXAMINEES

1.

RIeTRl FAuem U ued U U AMid Sifarid: for |

Candidate must write frist his/ her Roll No. on the question paper compulsory.
T T B B A B |

All the questions are compulsory.

YD YT P IR ol T3 STRYRAHT H B foree |

Write the answer to each question in the given answer Book only.

o gel & 3TTaR® wWve 7, 39 1 & UH & SR U A1 2 forer |

For question having more than one part, the answers to those parts are to be written

together in continuity.

Ued UF & BT g US ®URRY § {6 UpR & Ffe /IR / fRem™ s F R Bl
TS & U bl T8l H |

If there is any error/difference/contradiction in Hindi & English versions of the question

paper, the question of Hindi versions should be treated valid.
U B SR foled I Yd U BT HHiD ey o |

Before writing the answer to the question, you must write the serial number of the

question.

Ued ¥, 23 AFRE BR W Heftd 81 3R 4 3fd BT 2|
Question No. 23 is related to map work and carries 4 marks.

U . 21 ¥ 23 ddb # 3MaRe fAdea g

Question No. 21 to 23 have internal choice.



Yuis—3
Section- A

Tefieed ye —

Multiple Choice Questions -

U1, 9 UeHl & SR b1 W8T [dbed T R STRYNGDT H TR |

Write the answer to the following questions in the answer book.

(i) 7T SRS FHSIAT Pe BT, —

(31) 5 STFTeRT 1930 @) 5 7T 1931
() 15 ST 1931 (@) 5 W 1930
When was Gandhi Irwin pact finalised ?

(a) 5 January, 1930 (b) 5 march, 1931
(c) 15 January, 1930 (d) ) 5 march, 1930

() fB= TR J&Id & oACh B o—

(31) STaERAT E% (@) -TeaT "

(d) HSTHT e (@) T Rig

Who wrote the book ‘Hind Swaraj’ ?

(a) Jawaharlal Nehru (b) Nelson Mandela

(¢) Mahatma Gandhi (d) Bhagat Singh
(in) fazgeamdt e w&l B oA g% —

(31) 1919 (@) 1929

(&) 1935 (g) 1933

The great depression began around -
(a) 1919 (b) 1929
(c) 1935 (d) 1933

(V) RT &1 U ig Ud XTI HAF Pal RIfud garr?

(31) g% (3) SRR



(d) 3r8HeEe (@) BRI

Where was India’s first iron and steel plant set up -
(a) Mumbai (b) Jamshedpur

(¢) Ahmedabad (d) Bokaro

(V) STt WISt ufeT &1 wrTed fhde fhar?

(31) ar+ e (@) oFd ImTeY feaa)

() TSI M AT I (]) TTER YRt
Who edited the Bangal Gazette newspaper ?
(a) Warren Hestings (b) James Augustus Hickey

(¢) Raja Ram Mohan Roy  (d) Gangadhar Bhattacharya

(V1) IRA # BT Sl oReT 87

(31) wgaci (@) TP <eira

(|) TesEH (]) <1 T

Which party system is there in India ?

(a) Multy party (b) One party

(c) Alliance (d) Two Party
(vnn) |EITE farTroT srfSrierd: STenRa i 8—

(@1 g R (@) d21 W

(@) TRIR W) (@) S )

Mostly social divisions are based on -

(a) Death (b) Dynasty

(c) Family (d) Birth

(vm) Fgfe urdt @ faRmar &—

(&1) ™IS STHHT]

(@) 3 YOR AUART & UR TSfIfde A< UR UPIEHR g0 &l & |
(@) snfeie AT (]) Nrota= &1 |9l

Characteristic of the communist party 1s —

()



(a) Social inequality

(b) Accepts economic reforms but maintains a monopoly or political power

(c) Economic inequality (d) Support to monarchy

(X) Soedr YT BT A HROT & 1
(31) SRETRY (@) arfeem
(%) T (@) =74 & I T ()
The root cause of consumer exploitation is -
(a) Unemployment (b) Illiteracy
(c) Poverty (d) None of these

(X) uTIoT S H Bl B ERIRar g fhafey B8R B — 1
(31) 3T (@) wad S & foy
(%) facer amn & forg (@) uiRaR® sma & fog ()
What is the main reason for the need of credit in rural areas -
(a) Accommodation (b) For crop industries
(c) For foreign tour (d) For family income

(xi) TefafEm wreE ST e H 9 RS o= a9 H wEn o §7 1
(1) = () = e
(w) fie s () sioeTze ()

Which of the following is used by the aluminum smelting industry as a raw material?

(a) Sugarcane (b) Limestone
(c) Iron Ore (d) Bauxite
(xn) =1 & 9 =it fafia= e % e WeR Trary 3iR dig Ui &1 wiwan 82 1
(o1) Forsfrereon (@) T
(<) Srgefiertor (1) SRR ()

Which of the following is a process of mutual relations and rapid integration between
different countries?

(a) Privatisation (b) Nationalisation

(c) Globalization (d) Liberalization



g2 Raa wF @t gfd sifog —
Fill in the blanks -
(i) st fafaet g s= R T fasm., % UCZARI G9 F AEF 71 T 9 | 1

The advertisements made by Indian manufacturers became the vehicle of the
nationalist message of ..o

() RT ¥ A<t B A I qTed SAE AM | ST ST | 1
Labourer sent from India to foreign countries were known as ..............

() € BT IoHITT I B 3T F8T fHaT S Fhar|” A 6@ o, T g | 1
Religion can never be separated from politics ................. said these words.

(IV) STRTT ST BT oo 3 ¥ HET WAl & | 1
The average income 1s also called ............. income.

(V) TR H BT (F1E) oo STRI HRT § | 1
.............. 1Ssues currency notes in India.

(V1) IRT & TRITY BT LT SUIRHT feasd F91-IT ST € | 1

National Consumer Day is celebrated every year in Indiaon .............
¥. 3. JTAgTRIT® Ul & SR Udh e a1 U URes 3 for—
Very Short Answer Type Questions — (Write the answers of the questions in one word
or in one line)
(i) 1880 % 3¥TH H I W I AT 1 I I2M % IR H for@n ATt HERIS *1 I Afgensi &
™ fafe | 1

Name two women of Maharashtra who wrote about the miserable lives of upper-
caste women in 1880s.

(i) “vem fa<q gg usdT AP D gg M| BIg Tb HRUT (AR | 1

“The first world war was the first modern industrial war.” State any one reason.

(iii) onfe — siEmfieRo | M T T 87 1
What do you mean by proto-industialisation ?

(iv) Sg &1 o1 SUANT &7 1
What is the use of jute ?

(v) 3MUS AR 918 b &1 Uh U A | 1
According to you, state are measure to prevent floods.

(vi) @OR f&T ®ed 87 1
What is trade ?

(vii) &R T R 7 ? 1
What are regional parties ?

(viii) SHAT B Pls QT M gAY | 1

State any two advantages of democracy.

(iX) Srpas @1 &1 gAIfadl I | 1



State two challenges to democracy.

X) "ba =Rl SR B9 Pdad 87 1
What 1s gross demostic product ?

(i) IIE a3 | 3MY a7 FHd 8? 1
What do you understand by tertiary sector ?

(xii) Tet foreRm RaTe foreh GRT WRTIoI sl TRl © 2 1
Who publishes the Human Development Report ?

gus—4
Section - B

AERRIGTS Y& — U 4. 04 § 16 & S folfay (Iq AT 50 )
Short Answer Type Questions — Write the answer from Q.4 to Q.16 ( Word limit : 50 Words)

U4, SAMERE F1R? 2
What is romanticism ?
U5 dc 89 gHsial 1§ ? 2
What is the Bretton Woods agreement ?
9.6 GUEl Sl FT BRI 82 Py &I I&BRYT I | 2
What are vulnerable species ? Write any two examples.
U7 dgSeRT URATSRI & &I A 18U | 2
State two advantages of multipurpose project.
U8 Vdl 3R WP I fha dsd 27 2
What is Rabi and Kharif crops ?
U9 WY 7 JaRET IR # 3y e BN | 2
Explain the difference between local and international trade.
W10 AThdd | ORI BT ARIER T MaeTdH 8 7 2
Why is there a need of power sharing in democracy ?

A1 59 UBR AMISS <RI I Albds gge 8l & ? 2
How does democracy strengthened with social differences ?

W.12. 919 G AR QAT H J=R T | 2
Explain the difference between pressure group and movement.

U143 e A o 87 ufd «afh o ok I o1 &7 gk forar | 2
What is economic development ? Write the definition of per capita income and national
income ?

H14 ol RIS 3R J=5~ RISFRT # favg #ifsg | 2

Distinguish between open unemployment and disguised unemployment.

W5 g1 TSR B QI8N AN Bl ATLIHBAT BT T B ol 8 |
YT BT | 2

“Money solve the problem of double coincidence of wants.” Explain.



W46 SIS STI Toheledl 1 TSU hel R Thd ¢ ? 2
By what means can the consumers express their solidarity ?
gres—Y
Section - C

e ST uv— Ue 17 9 20 & SR faf¥au | (3 A 100 9ek)
Long Answer Type Questions — Write the answer from Q.17 to Q.20 ( Word limit : 100 Words)

Y17 SeRAR IgdE $ faeman faRau | 3
Write the features of liberal nationalism.
918 “HEEF B o e # decayel e i 217 18 99 de 9disy | 3

Resources play an important role in any development . Give any three arguments.

19 WRA H oI # S IR ST @ SRR T 8 | 9T 3T 39 HUF W IEAd 27
PIE I Tb SIfoTT | 3
There is caste in ‘politics’ and “politics in caste’ in India. Do you agree with this statement.
Give any three arguments.

20 JIGHROT H SN AT FHd 87 $9 99 9 Il PRPb 180 | 3
What do you understand by globalization ? State the factors that make this possible.

Yrs—q
Section-D
feEreT® Ue— U 21 9 22 @ S<R faRau (I AHm 250 ¥R)
Essay Type Questions — Write the answer from Q.21 to Q.23 ( Word limit : 250 Words)
4. 21 fafu= Terifaes o ger Faifas & gara ) H=&i o9 gu 9?

S CIH

IERI W TP INABANT el fbdg UpR <81d § 4 bt a1 ? 4

Why did political leaders differ sharply over the question of separate electorates ?
OR

How did the non-cooperation movement spread from the cities to the countryside?

¥22 HUAE 1§ ? G| % (ARl BT |Hsiey |

AT
I 2T ARl & A WR DI —hF I 87 30d oA &I Ulhar 98U 4

What is federalism ? Explain its main features.




OR
What are the different levels of local government system ? Explain the process of its

formation.

Y. 23 U &I SR oI W gEfam # SIS |

o T vRA & e gEfaa § fAEfalRag a1 sifed #ifv |

(31) g™t (@) RTaHTeT
() TR () TR
3AdT
(31) =R (@) THThEH
(%) g=wme (%) T7Fe 4

Answer the question in the given map —

Mark the following in the given outline map of India.

(a) Vadodara (b) Rawatbhata

(c) Tutikorin (d) Gandhinagar
OR

(a) Beawar (b) Amarkantak

(c) Sundargarh (d) Tumkuru



Y9 B ISl

HeIT — 10
fayg — v 09
3T — 3 °ve 15 f#He qurics — 80
1, TGa TG ABAR —
.. SECRO SIGIN yfererd
1. | 9™ 20 25.00
2. | 39w 16 20.00
3. | orfvrafad 24 30.00
4 AT 20 25.00
gIT 80 100 %
2 U9 & YPRIR BN —
EQ Yl BT bR YT @l | 3 Ufl | Bl b yfererd SRIIER
9. =T RS gfererd gedl BT Ty
1. | aedTS 18 1 22.50 36.00 45
2. yﬁaw 12 1 15.00 24.00 35
3. | TERIH® 13 2 3250 26.00 45
4. | STEBTRIT YA 04 3 15.00 08.00 35
5. | FrEecH® 03 4 15.00 06.00 35
gIT 50 100 100 195
3. favy avg &1 PR —
.9, IEARIGES! 3THHR PIGEIG]
1 qRfdh T 4 05.00
2 |98us 3 03.75
3 | a1 =R arel g FHIDR0T i 6 07.50
4 | fgeumd aHreNT 4 05.00
5 | 99idY ST 5 06.25
6 | Py 4 05.00
7 | e Mt 6 07.50
8 | Bemifata &1 u= 8 10.00
9 | v & B FuANT 4 05.00
10 | g 5 06.25
11 | =N 6 07.50
12 | gl 9 GEIEA erEhd 4 05.00
13 | U &A%l 3R 3TIdH 6 07.50
14 | TifRgdT 11 13.75
15 | UIRIepdr 4 05.00




DHET — 10 fgwa .—  wford o9 quiis — 80
£ ST SR/ SU I ElE ELL T / ferfed Pt / Aferdar T
.
¢ |p LR Ble ¢ BERE
1| IRdA® N 1(1) 2(1) 1(1) 4(4)
2 | 98U« 1(1) 2(1) 3(2)
3 | 31 AR drel WRad FHIBI] 41 | 1(D) | 1(D) 6(3)
qiH

4 | fgurd aHiEeor 2(1) (1) | () 403)
5 | GHIOR SIdiT 3(1) 1(1) | 1(1) 5(3)
6 | gl (D) | 1(1) | 2(1) 4(3)
7 | e samfd 1(1) 2(1) | 3(1) 6(3)
8 | BpomfHfa &1 uRea 1(2) A1) | 1(2) 8(5)
9 | BUIARY & B AR 1(1) (1) |2(1) 4(3)
ES 1(1) | 1(1) 3(1) 5(3)
11 | TR 1(1) (D) |2(2) 6(4)
12 | IdT ¥ HAST el 2(1) 1(1) 1(1) 4(3)
13 | U &A% 3R 3T 1(2) 2(2) 6(3)
14 | FiR D! 1(2) 2(1) | 3(1) 4(1) | 11(5)
15 | wifaepdr 2(1) 1(1) (1) 4(3)

5(5) |2(2) |6(3) |3(1) |4(1) |4(4) |3(3) |6(3) |3(1) 5(5) | 4(4) | 8(4) | 3(1) | 4(1) | 4(4) |3(3) [6(3) |3(1) |4(1) | 80(50)

fdmeul @Y AT — TN, 21, 22, 23 ¥ TS IHidN® Adbed 2| Ac— HISH § I8N P AT 3ip] o1 q2r Hax gz=l & @ds 2|




Aeafie BrT 98 ORI, IO
aegffie UNieT — 2023
Hied UH U

faog—rfoTa
D&IT—10
TI— 3 °gc 15 fiFe qUTiH—80

wenfhat & foy sm= fAder

Genral Instruction to the Examinees :

I. TR dyeM 31U UeEUS WX AMid ffHarid: fored |

Candidate must write first his’/her Roll No. on the question paper compulsorily.

II. <99 gz & sifvard &

All the questions are compulsory.

. YRS U &I SR &l T3 SIRYRADT H & o |

Write the answer to each question in the given answer book only.

IV. 59 usHl # oaRe woe 8, 99 Wl & SR U Rl 81 ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.

V. U UF & fF< 9 3l SumR # 6 yeR &1 FJfe /iR / fokemra gF
UR &1 WINT & U Pl B Hel HH |
Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.




Yrs—3A
SECTION- A

(i) 12 3IR 15 BT <Y 3R AFY RIT BRI ?

(31) 60 3R 3 (@) 24 3R 6

(¥) 12 3R 30 () sTH | P8 81 1
Find the LCM and HCF of 12 and 15 ?

(a) 60 and 3 (b)24 and 6

(c) 12 and 30 (d) None of'these

(i) 98US H 3%’ 1 4x—2 IIDI B AT BRI ?

(31) 1 @) 2

) o @) T ¥ P13 T8I 1
Numbers of zeroes in polynomial 3x2 + 4x —2 18 ?

() 1 (b)2

(© 0 (d) None of'these

(iii) T fog & frdenis 8§ ?

@) (1,2) @ (1, 1)

®) -1, 1) (=) 0,0) 1
The Coordinates of origin are ?

(a) (1,2) (b)(1, 1)

(¢) -1, 1) (d) (0,0)

(iv) I 2x+y=6 B I SHDI I B Tl JH 8 ?

@) (1,2) @ 21

(®) (2,2) ) @D 1
Which pair is satisfy the lines equation 2x +y =6 ?

(a) (1,2) (b2, 1)

(c) (2,2) (d) (1, 1)

(V) IR ax® 4 bx+c=0 . a=0 P Hol dRifdd -8l 8 I
() b>-4ac<0 @) b*-4ac>0

() b>-4ac=0 (@) 3 ¥ ®Ig T8l 1

2




In which condition the roots are not real in Quadratic equation

ax’+bx+c=0,a%#0

(@) b*-4ac<0 (®) b* —4ac>0
(©) b>—4ac=0 (d) None ofthese
(vi) Uh IR ST 3, 7, 11, 15 oo % o ATHe=R 8T ?
(31) 1 @) 2
() 3 (@) 4
The common difference forand AP. 3,7, 11, 15......... will be
() 1 (b)2
(c) 3 (d) 4
(vii) 2sin45° cos45° &I A BT ?
1
@ 5 @ 2
(%) 1 (%) 0

The value of 2sin 45° cos45° will be ?

(a) % (b)2

(o) 1 (d) o

(viil) Th g &1 fobail Tl Y@ 81 dadl 8 ?
@) TP (®) s

(@) q= (&) = =8l

How many tangents can a circle have ?

(a) One (b) Infinite

(c) Three (d) Unknown

(ix) g DT &5l S B DI Gl & ?

@) 2 @ o5

&) nr? (@) 3 ¥ ®Ig T8l




Which one of the formula to find area of circle ?

2

nr
(@) 2nr ®) 25
©) nr? (d) None ofthese

(x) AT TP A9 Bl HdATg 11 IR T2 SHD] dsb O &% 968 HHI
g Al 99 @l BT srlr ?

(31) 10 T @) 11 I

(|) 12 I (T) 14 0 1

If a height of a cylinder is 11 cm and its curved surface area is 968 cm?, then the

radies of cylinder will be ?

(a) 10 cm (b) 11 cm

(¢c) 12cm (d) 14 cm

(xi) ¥ 7,4,5,3,4,3,4,1, 2 <l 5gcTh BT—

(a1) 7 |) 4

| 3 (®) 2 1
Mode of the distribution 7, 4, 5, 3,4, 3,4, 1, 2is—

(a) 7 (b) 4

() 3 (d)2

(xii) T®H UTH BT Uh IR Bbl Sl & | AT GAT BT YT B bl
I T—

@ 5 @ =

&) o (@) 1 1

A die is thrown once, then the probability of getting a prime number is—

@ > Ok
2 3
(c) 0 (d) 1
() 3425 T o HeT 87 (uf / Saie) 1
3425 0sa .. number ? (Rational / Irrational)




Allcirclesare ............... (Congruent / Similar)

(i) tan30° tan60° BT A ..o BT ? 1
Value of tan30° tan 60° is........... ?

(iv) I B w2l @ iR BT & 4 BT DIV §T & ? (=
P / 3MfSPH BT/ HADIO) 1
Angle between a tangent and a radies of circleis ................ (Acute angle /

Obtuse angle /Right angle )
(v) g AlBel BT ARG S DR BT G 5 — g7 1

Formule of finding mean of a grouped datais x —

(vi) el TmTa =T o B9 SRt MRl ... B S | 1

The probability of an impossible event is................. :

(i) =R 9T TR R T gd SAfgda i ot vd fafe | 1
Find the condition of unique solution for pair of linear equation in two variables.
(ii) fGoTd FHERT a5 1 bx +c=0 P A AT BA BT 37 xR ¥
forfeay ? 1
Write the Shree Dharacharya formula to find roots of quadratic equation

ax’+bx+¢c=0-

(iii) TR 911 2, 5, 8, 11 . % 12 UGT BT AFT S BT 2 1
Find the sumof AP.2,5,8, 11 ........... to (12" term)

(iv) ST FASY Sl & YoTsll &7 U 4 @ 9 &1 I 391 &Ml Bl &
&Sl BT STUTT I DISTY | 1




Ifratio of sides of two similar triangles is 4 : 9, the find the ratio of areas of

these two triangles.
sec 40" sec50°
— G| E[? \le ?
V) cosec50’  cosecd0’ T ' 1

sec 40" sec50°

cosec50° cosec40’

Find the value of

(vi) 9sec’0—9tan>0 HT A FId BT ? 1
Find the value of 9sec*©—-9tan’0

(vii) T% 999 THh HAR DI BT IGD! $HAg & IRI6 81 oIl &,

S~TI9 BIUT ST BT ? 1

At a time, the shadow of a tower is equal to height of tower. Find the angle of

elevation ?
(viii) ST IS SRIT W BIOT g BT AM 1A HIIY ? 1
C
10m
0 ]
A 1033 m B
Find the value of angle @ in given figure ?
C
10m
0 ]
A 1033 m B




(ix) I T fd5 PH O s dlel fHHl gt R PA, PB T3 VU URER
80° & DI UR Gehl 8 Al SAOB P AF S BRI ? 1
Iftangent PA and PB from a point P to a circle with centre O are inclined

to each other at the angle of 80°. Then find /AQOB .

(x) 19 G THT Ush VERIUS Wiy 3R §9 2 1 & 31U H faIisTa
PITY ? TFT ART BT A9 [T | 1

Draw a line segment of a length 9 cm and divide into the ratio 2 : 1 mesure the

two parts.

(xi) 6 T AT Al U Ied & U [ASI@US Bl &G S DIy,
fSTIeT P17 60° B ? 1

Find the area of a sector of a circle with redius 6 cm, if angle of the sector is
60°.

(xii) TP I H 3 HAell, 2 The 3R 4 A g 21 39 99 H 9 (& I
AT [FhTell ST & AT 3Hd! &l UIiddhar & & Farell 15 I <ol
g ? 1

A box contains 3 blue, 2 white and 4 red ball. Ifa box is draw at random from

box, what is the probability that will be blue ball ?

Yus—d
SECTION-B

T AR 616 IR 32 BT #&<H FHYAD (HCF) 9T HIfog 1 2
Find the HCF of two numbers 616 and 32.
U g9 98U Sd DIy, [STHS 2dh 4 qAT 1 5 ? 2

Find a guadratic polynomial, whose zeroes 4 and 1 ?

fEend FHIERT 6x2 —x —2=0 Eﬁ?ﬁﬁﬁaﬁﬁ?? 2
Find a roots of guadratic equation ¢x?> —x -2 =0 ?

g3l (1, —5) 3R (—4, 5) BT SIS dlel NGV BT —3AHed (b 31guTad
# o wear 8, 91d difstg ? 2




10.

11.

12.

13.

14.

Find the ratio, in which x-axis divides the line segment joining the points (1, -5)
and (-4, 5). 2
fH | 60 m T ST W Teh TG 3G T ¢ | T H ol S BT TRl Y
T o o forg T Sy faam T B | ffF 3 e S o1 gohTa 60° T | I8 AR
for S | IS @ &1 ®, SR ! oTsE i ifs | 2

A kite is flying at a height of 60 m above the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60°. Find the length of the string, assuming that there is no slack in

the string,
6.7 T TS BT U WIRIUS WIdhy ITBT 2 : 3 H <IRF et
HIfoTy ? 2

Draw a line segment of length 6.7 cm and divide it into 2 : 3 internally ?
5 Tl 0T & U ged WR U &1 Wi @Y Fifey, § RER @ 60°
BIT TR S[DI B | 2

Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each

other at angle of 60° .
gfe a1 F2rgoil & esthdl )1eR 81 df g BifoY o el darraH
Bl B ? 2

Ifthat area of two similar triangles are equal, prove that they are congrunt.
Th g & e & g5 ol e 14 9 2| 39 48 @ gRI 5 e

T 3fad eEmd 3hd By ? 2

The length of the minute hand of a clock is 14 cm. Find the area swept by the
minute hand in 5 minutes ?

ST 4.2 T ATl G & T Tl BT UEATdR? a1 6 1 alel U
I & WY H AT ST & | 99 Bl Hdlg F1d DIy ? 2

A metalic sphere of radius 4.2 cm is melted and recast into the shape of a

cylinder of radius 6 cm. Find the height of the cylinder ?
fammtt 5.5ecmx10cm x3.5¢m el U 89T 9999 & foIT 1.75 91 &I
2 TAUH AT a1 fha aidl & Riapi &1 fUaam=T g ? 2

How many silver coins 1.75 cm is diameter and of thickness 2 mm, must be

melted to form a cuboid of dimensions 5.5cmx10cmx3.5¢cm ?




15.

16.

17.

18.

19.

20.

1 IRWRAT §9 &1 98- 31d Hifvu ?
X 20 30 40 50 60 70 | 80

f 6 " 7 4 4 2 1

Find the mean of the following frequency distribution ?

X 20 30 40 50 60 70 80

6 " 7 4 4 2 1

ST RIS ASIRB RO o1 U g Weld 21 I8 9d & 6 A 8=
S @1 URIhdT 0.38 81 B & 39 Siidd & =T a1 8 2 2

Two Players A and B play a tennis match. It is known that the probability of a

winning the maths is 0.38. What is the probability of B winning the match ?

Yis—

SECTION- C
AP 17,1513, ... ¥ fera o< forg ST arfer ST M 81 €17 3
How many terms ofthe AP. : 17, 15,13,............ must be taken, so that their
sumis 817
g BINTY 16 fovg (2, —2) , (—2, 1) T2 (5, 2) U EHBIUT el & oy
g | 3
Prove that the point (2, -2) , (-2, 1) and (5, 2) are vertices of a right angled
triangle.
FrefARad aflepa sfievel BT dBicud "Ry Al gRT #RY S HITY ?
i 11—13 |13—15| 1517 |17—19 | 19—21 |21—23|23—25
EIRSINGI) 7 6 9 13 20 5 4 3

Find the mean of the following grouped data using the assumed mean method.

Class 11—13 [13—15 [15—17 [17—19 | 19—21 |21—23 |23—25
Frequency 7 6 9 13 20 5 4 3
g HINTY 16 (5 g & (6l 9 & RRE R Sl 75 w2l Wi
HATR B 8? 3




21.

22.

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

grs—q
SECTION- D
/=1 IRgep FHIBIUT ¥ DT TR [T §RT & HIToIQ ?
2x+y=6; 2x-3y=2

3fera
/=1 IRgep FHIBIUT ¥ DT TR [T §RT & HIToIQ ?
X+3y=6; 2x-3y=12 4

Solve the following pair of linear equations by graphical method :
2x+y=6; 2x-3y=2

Or
Solve the following pair of linear equations by graphical method :
X+3y=6; 2x-3y=12
g Py

1+sin A
1-sin A

=secA+tan A

3rerar
g P o

cos A 1+sin A
_l’_

- =2sec A 4
1+sin A cos A
Prove that
1+si
s%nA =secA+tan A
1-sin A
Or
Prove that
A )
cosS +1+SmA:2secA

1+sin A cos A

10




23.

Frefafea aro feet sreqara ® wek fovi ot A oot gu Afiri ot o1mg

T —

g (T H) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65

TR =1 e 6 11 21 23 14 5
ST Sihg! o Sgeish SN AIET I hiIfT | 4

AT

FreAfefEd arwmRar sed frdt digect & 68 SUHIRIST i fostel i
e WU ST S | 57 SAhS| o HEdh SR Igerh 1 hifeg |

ek wad (STl H) IS Bl T

65 -85 4

85-105 5

105 -125 13

125 - 145 20

145 - 165 14

165 - 185 8

185 - 205 4
The following table shows the ages of the patients admitted in a hospital during a
year :
Age(inyears) | 5-15 | 15-25 | 25-35 | 35-45 |45-55 ]55-65
No. of Patients 6 11 21 23 14 5

Find the mode and the mean of the data given above.

Or

The following frequency distribution gives the monthly consumption of electricity
of 68 consumers of'a locality. Find the median, and mode of the data.

Monthly Consumption Number of
(inunits) Consumers
65— 85 4
85—-105 5
105 - 125 13
125 - 145 20
145 - 165 14
165 — 185 8
185205 4

11




Y9 B ISl

HelT — 10
favy —gepd
@S — 3 gue 15 AT qurics — 80
1 TGa TG ABAR —
.. SECRO SIGIN yfererd
1. | 9M 17 21.25%
2 SECLE] 14 17.50%
3 ffereafa 35 43.75%
4 AifeThdT 14 17.50%
T 80 100%
2 U9 & YPRIR BN —
ED YA UbRT: G | UIAoRTH | fetir % JTT AT
. T, SIER PIGNGE I
1. | GRSy 18 1 225 36% 20
2. | ATTIRIHBYET 12 1 15 24% 25
3. | ALRIHD—YLT 13 2 325 26% 35
4. | STICRII—YIT: 4 3 15 08% 55
5. | TS —geAT 3 4 15 06% 60
G 50 11 - 100% 195

3. fawg g% &1 PR —

I fawg avg PR | gfaed
1 | UIGAYEABI TR fEIHNAT U Al 4 5
2 | YISIYEIDI YEerRy fB<I¥ar |yaid fgdre: 4 5
3 | YISAYEIDIq ST A= MISaT HyHiiH Sfdra: 4 5
4 | UIGIYRADBI USRI GaRITaTR a] H&hd HarieRdH 2 2.50
5 | HERAHRIHT YRR — UhHUed Yyuied o 6 750
6 | 3T ol@H 2 2.50
7 | ye e 3 3.75
8 | VW TEUIcH (Bl ARl AR 2 2.50
9 | USYHTER IR 1 1.25
10 | UIGIYKIDI Telhgd olvg-yq 2 250
11 | SUfSaEdrRAH 10 125
12 | UG dd HTHIUH 25 31.25
13 | HBAEMRAY NUAIRGH AAdT YIRS T EH 4 5
14 | IR aviey oreEr FadrniRd ardiaieidTy 4 5
CERCIECIRE 4 5
16 | TICHATHAR AT AT JIeRI=THI0TH 3 3.75




BT —10 g - —dwqd quiice —80
. IRy bl /SU DTy Elal R CCLC] SRR / et PIeTet / Aot AT
il
| | £ |pRE |& T & £ | & £lr &
1| YTGAYEIhT TR BT AYETH 37dre: 4(1) 4(1)
2 | UTGIYRPI T BT GIHIH Jara: 4(1) 4(1)
3 | UTGUYRIBI SRR [E=EHTIT HUHITH 4(1) 4(1)
i :
4 | UTGAYKIGI TR IITa-TY d A 2(1) 2(1)
GICIDRCICEE|
5 | HRTHEA YeARRINT — Udhya- goias o 2(4) | 4(4) 6(8)
6 | 3IT oA 2(1) 2(1)
7 | wed fHioR 3(3) 33)
8 | T O R HRETq 2(1) 2(1)
9 | UTBYHITIHR ereareferd-q () ()
10 | UGBTI TAIDEd oldTq 2(1) 2(1)
11 | sfaradEq 48) | 44 | 20D 10(13)
12 | STIUYdd—cITHRITH 10(10) 15(15) 25(25)
13 | HAHARTRTH ATTATREGH @l ARG U= 4(1) 4(1)
g
14 | FoamEnRd quivH S1eraT FahdrRTRd ardicideleTH 4(1) 4(1)
15 | 31aTe BRIY 4(1) 4(1)
16 | ICAHIRY HATSIAH 3fefd] ATRITHIR 3(1) 3(1)
3(6) | 14(14) 2(2) 126) | 48) | 2222) | 6(3) | 3(1) 2(1) 12(3)
JdART 17(20) 14(4) 35(34) 14(a) 80(62)

fabeul & ASHT — UH. 1,2,3.4,522,23,25 § U 3NidRP fdded T

Alc— BIGd H d8Y P GAT Dbl HI a2 Uik YAl & aldd ¢ |




AEGAD URIET—2023
Alsel YT 9=
fawg — depd
hEll —
Gug—3y
- 3 99 15 e quTics —80
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